FBITEE (1 Sv/h) JAIE H
A S 4 < Y T DRAR =
1.0m 0.5m P53
15 T 2 S AR TR 8H2H
1 0.05 0.05 +
(P /N AR £Y
HISET K E 882H
2 _‘ 0.08 0.08 Zih
(BRI X EER) £Y
B ET 3 AR 882H
3 0.09 0.09 Zih
(< <FDHK) £Y
B ET 3 AR 882H
4 0.07 0.07 +
(FIFRFFT) £Y
1S T 882H
5 0.04 0.04 +
(KRBREFT) £Y
1 BT 2 AR T 8H2H
6 0.07 0.07 FAI7ILE
(PR ET 15235) £
AT & R 8H2H
7 0.07 0.08 FAI7ILE
(AHHIAINHNEE2—) £
75 L T N 2 8H2H
8 ) 0.07 0.07 FAI7ILE
(EDOER REOBRZS58FE) £
T E . 8A2A
9 0.11 0.10 N—Ra—k
(BT RBERR15) 2y
1S T 2 S AR TR 8H2H
10 0.08 0.08 FAI7ILE
(FIAR AT B0 £
I BT HE BB 8H2H
11 0.05 0.05 +
(HEEEMEE) 2y
HISET B /L 8H2H
12 0.07 0.07 arvsy)—k
(BEFAZa=F1—t2%—) £
B ET 3 55 8H2H
13 0.07 0.07 avsy)—k
(ABFAZa=F—tV5—) £
HISET S S 8H2H
14 0.07 0.07 avol)—k
(BAIZ2=TFT1—t5—) £Y
HISETHERE (B E) 8H2H
15 0.05 0.05 =)
(R EIZ2=FT1—EE—) £
7 U5 T 8H2H
16 0.07 0.07 B
(BRAT2AE) 2Y
HISET =D K 8H2H
17 0.07 0.07 avy)—k
(mEDENAER) £
FHI BT U5 A TS 8H2H
18 0.08 0.08 =
(RB4XLAE) )




